Notes 5.notebook May 18, 2018

Take out your June 2016 exam and complete the following
questions: 3, 10, 23, 24

3 Kevin's work for deriving the equation of a circle is shown below.

x? 4 dx = —(y? — 20)
STEP1 22 + 4r = =% + 20 "
STEP2 2+ 4l d= -2 +20f- 4] N\

STEP3 (x +2)7=—y? + 20 — 4
STEP4 (x + 2)2 + _r,rz = 16

In which step did he make an error in his work?
(1) Step 1 (3) Step 3
Step 2 (4) Step 4
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10 In the diagram below of circle O, OB and OC are radii, and chords

AB. BC. and AC are drawn.
Z 2 '
m <PACG=Zim BC

Which statement must always be true?
(1) LBAC = LBOC
@ mZBAC = L mzBOC
(3] ABAC and éBOC are isosceles.
(4) The area of ABAC is twice the area of ABOC.
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23 The graph below shows AB, '\\"Iliill is a chord of circle O. The
coordinates of the endpoints n_fAB are A(3.3) and B(3,—7). The
distance from the midpoint of AB to the center of circle O is 2 units.

computations.

b

E

A

What could be a correct equation for circle O?
JQ.:I—1F+(U+2:9=29— \
HKa+s2+@y—27=29
Wa—-12+@y-22=25
SO G—52+(y+27 =25 =

24 What is thefarea of a sectorfof a circle with a radius of 8 inches and

formed by a central angle that measures 60°7

( Sm 32n
1) —
WL 3 @ 3
6

(2) 15% (4) B

3 t3
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Geometry Name,
HW 13-\ Period Date,

Y

Find the area of each sector. Give your answer in terms of 7 and rounded to the
nearest hundredth.

2. sector PQR 3. sector JKL  J 4. sector ABC

8 cm 135° oA
L 20

A=97 m’ A=24r cm’ Az?
A=2827 m’ A= 7540 cm®

5. The beam from a lighthouse is visible for a distance of 3 miles. To the nearest

square mile, what is the area covered by the beam as it sweeps on arc of 150°?
m |__ A =12 mi’

36() ZTYr

Find each arc length. Give your answer in terms of 7 and rounded to the nearest

hundredth. E nee
P 45 )
9. EF F 10. PQ
P Q
120°
L=4r ft L=67 m
L=12.57 fi L=18.85 m
11. an arc with measure 20° in a circle with radius 6 in.
21 .
—— 1IN
3
1=2.09 in

May 18, 2018
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29 In the diagram below of circle O, the area of the shaded sector AOC is 12x in? and the length of
0A is 6 inches. Determine and state mZAQC.
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Class Neotes X: Radian Measure
S

.
Radian Measure 5w°=2 Trra, v.

A radian .o o unit of measure for angles )

One  radian  je the angle made at the center  ofg
circle by an A whose length is equal to the

radius of the circle.

As seenin the figure above, a radian is defined by an arc of a circle. The length of

the arc is equal to the radius of the circle. Because of this the radianis a fixed

size no matter what the size of the circle is.
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How many radians (radii) are in a full circle?

¢A full circle has circumference of € = 2rr so number of radians (radii) = _29Y .

E le:
Iﬁ%@m a radius of B, thennumber of radians is

We know that 360 ° gre in a circle. So let's use this to determine how much a

radianis in degrees.

So we know fha(360° = 1"( r'adfans,

We can use this informationto convert back and forth from radians to degrees.

¥

0
280° = 21 radians 360° = 27 radians .6
36y Ico 2T ‘_,c)’\

lo= radians REFERENCE SHEET 1radian = _ g °
\%c T

. . 1580
Radians 1 radian = — degrees F
m

n .
Degrees 1 degree = T80 radians
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, . 150
Radians 1 radian = — degrees
d

radians = ﬁx degrees

E Degrees 1 degree = % radians

E i Example: Let's convert 30 to radians.

™
Radians = —— x 30° = ( : radians
\

all

Now you try. Convert the following to radians.

1. 45° 0 - _L& 2. -60°.-EE =~ ":?_ 3. 90°

=I3

o,
&N
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How would you convert from radians to degrees?
Degrees =

\go Radians 1 radian = 150 degrees
R=D = = |

n
Degrees 1 degree = — radians
& & 150

Example: Let's convert ? Tto degr'ees

degrees= 237710 -

Now you try. Convert the following radians to degrees.
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29 In the diagram below, Circle 1 has radius 4, while Circle 2 has radius 6.5. Angle A intercepts an

arc of length m, and angle B intercepts an arc of length MTH

Circle 1 Circle 2

Y.

13m

8

Dominic thinks that angles A and B have the same radian measure. State whether Dominic is
correct or not. Explain why.

May 18, 2018
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August 2017

. . . . 512n
23 In a circle with a diameter of 32, the area of a sector is 3 . The
measure of the angle of the sector, in radians, is

) X 3) 16z
m 3 (3) =%
4 . 64

2y — y =
(2) 3 (4) 3

May 18, 2018
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